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1. Secondary storage includes 

2. Electrical power glitches such as 
interruptions and voltage fluctuations 
can cause 

3. A binary computing system is based 
on  

4. Which of the following has the highest 
bandwidth? 

5. Which of the following does NOT 
exist by design? 

6. RAM stands for 

7. A CRC is a 

8. One of the key tools for responding to 
emergencies in computing systems is 

9. A KB represents approximately 

10. One of the most serious security issues 
in the use of cable carriers for Internet 
access is that 

11. One of the key methods for reducing 
the risk of data interception during 
communications is 

12. A parity bit is used to 

13. How many megabytes are there in a 
terabyte? 

14. ROM stands for  

15. The speed of a computer measures 

16. Dial-up Internet access is still widely 
used for 

17. Why is the textbook wrong in assuring 
readers that CDs and DVDs should 
not be attached to filing cabinets using 
a magnet? 

18. Which of the following are well-
known codes? 

19. A GB is 

20. A CRC is used to  

21. How many kilobytes are there in a 
megabyte? 

22. Which of the following are well-
known codes? 

23. One of the protection mechanisms for 
random access memory is 

24. Synchronous processes 

25. How many bytes are there in a 
kilobyte? 

26. A TB is 

27. How many bytes are there in a 
megabyte? 

28. Asynchronous processes 

29. A backup is 

30. Interrupts are 

31. How many bits are there in a byte?
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